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E5 BALm | B JER R ek | #sesok | ek | sk | ek | sk | ek | stk | sammson | sk | ek | @ sesok | ek | sk sk
I % FAEQ) 798 O - - - - 6.38 - - 13 /58
R-1 - 3.20 3.20 3.20 3.20 3.20 3.20 3.20 -
I % FiAHE(2) 1100 O - - - - 9.40 - - 1[8]/58
At I % 2E&(X) 4.00 O 400 4.00 4.00 4.00 4.00 4.00 4.00 ST K
I% EEERA 5.25 @) 5.25 5.25 5.25 5.25 5.25 5.25 5.25 SEE K
I% FAEQ) 1029 O 8.44 1E/58
R-8 - 3.70 3.70 3.70 3.70 3.70 3.70 3.70 -
I% F8¥E (2) 11721 O 9.87 1E/58
I% aR= 250 O 2.10 1@/:8
R-10 — 0.80 0.80 0.80 0.80 0.80 0.80 0.80 -
I% =Y 250 O 2.10 1E/58
I & RixRA 2 200 O 1.65 1mE/58
R-12 — 0.70 0.70 0.70 0.70 0.70 0.70 0.70 .
I% XA & 235 O 2.00 1E1/:8
INEE 59.59 1345 | 840 | 925 | 840 | 2756 | 840 | 1290 | 8.40 | 2503 | 840 | 9.25 | 840 | 9.25 | 8.40
AR IK BRIAREHEK (B m 13.45 9.25 27.56 12.90 25.03 9.25 9.25
HKERWERE [[BREEK RRIE B (BAL:m) 8.40 8.40 8.40 8.40 8.40 8.40 8.40
BRETAIE (B m) 1.8 18
INET 8.40 8.40 10.20 8.40 10.20 8.40 8.40
X1 WK, BEKEFALET,
2 ERBIMIBEEHEEK 0225m/min X 8min = 1.8m/H
N = R s = 7}(5& T_/ q_jl:l_% . 5@*%@% X 3%)
B ata & B 3 3
@ BREKE BHHKERERE oo se /B« ( 5959 x 003 ) = 293 mi/H
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